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import sys
sys.path.append("statlib")
from xtest import Bonferroni_test

Bonferroni_test(data, group, method="Bonferroni_test", alpha=0.05)
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import sys
sys.path.append("statlib")
from xtest import Bonferroni_test2

Bonferroni_test2(n, m, u, verbose=True)
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method 57 # )L b 13 Bonferroni_test, flICIE®E TZ % D%, "Holm", "Shaffer",
"Holland-Copenhaver",
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import numpy as np

data = [

]
group = np.repeat(range(4), 7)
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import sys
sys.path.append("statlib")
from xtest import Bonferroni_test

a = Bonferroni_test(data, group)

Multiple cpmpalison of tow means (Bonferroni)

mean variance
.442857 0.896190
.700000 1.733333
.957143 1.719524
.314286 0.941429

Group-1
Group-2
Group-3

NN NN B
o N N

Group-4

t value p value p threshold
1:2 2.835166 0.009149

judge

0.008333 not significant




1:3 2.416862 0.023620 0.008333 not significant

1:4 5.089355 0.000033 0.008333 significant
2:3 0.418303 0.679445 0.008333 not significant
2:4 2.254189 0.033587 0.008333 not significant
3:4 2.672492 0.013319 0.008333 not significant
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import sys
sys.path.append("statlib™)
from xtest import Bonferroni_test

a = Bonferroni_test(data, group, method="Holm")

Multiple cpmpalison of tow means (Holm)

n mean variance

Group-1 7 9.442857 0.896190

Group-2 7 7.700000 1.733333

Group-3 7 7.957143 1.719524

Group-4 7 6.314286 0.941429
t value p value p threshold judge
1:4 5.089355 0.000033 0.008333 significant
1:2 2.835166 0.009149 0.010000 significant
3:4 2.672492 0.013319 0.012500 suspended
1:3 2.416862 0.023620 0.016667 suspended
2:4 2.254189 0.033587 0.025000 suspended
2:3 0.418303 0.679445 0.050000 suspended
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import sys
sys.path.append("statlib")
from xtest import Bonferroni_test

a = Bonferroni_test(data, group, method="Shaffer")

Multiple cpmpalison of tow means (Shaffer)

n mean variance
Group-1 7 9.442857 0.896190
Group-2 7 7.700000 1.733333
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Group-3 7 7.957143 1.719524
Group-4 7 6.314286 0.941429

t value p value p threshold judge
5.089355 0.000033 0.008333 significant
2.835166 0.009149
2.672492 0.013319
2.416862 0.023620
2.254189 0.033587
0.418303 0.679445

.016667 significant
.016667 significant
.016667 suspended
.025000 suspended
.050000 suspended
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import sys
sys.path.append("statlib")
from xtest import Bonferroni_test

a = Bonferroni_test(data, group, method="Holland_Copenhaver")

Multiple cpmpalison of tow means (Holland_Copenhaver)

n mean variance

Group-1 7 9.442857 0.896190

Group-2 7 7.700000 1.733333

Group-3 7 7.957143 1.719524

Group-4 7 6.314286 0.941429
t value p value p threshold judge
1:4 5.089355 0.000033 0.008512 significant
1:2 2.835166 0.009149 0.016952 significant
3:4 2.672492 0.013319 0.016952 significant
1:3 2.416862 0.023620 0.016952 not significant
2:4 2.254189 0.033587 0.025321 not significant
2:3 0.418303 0.679445 0.050000 not significant
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d = [[10.7, 9.7, 8.5, 9.4, 8.8, 8.4, 10.6], # £ 1 D7 —%,
[8.1, 8.3, 8.7, 6.9, 5.7, 9.5, 6.71, # % 2 HDTF—9%,
(7.9, 7.5, 7.4, 9.2, 5.7, 8.3, 9.71, # & 3 EOF—9%,
[6.2, 7.1, 5.5, 4.7, 6.3, 6.9, 7.5]] # B 4 BOT—7,

n = list(map(len, d))
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m

list(map(np.mean, d))

u list(map(lambda x: np.var(x, ddof=1), d))
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print("n =", n)

print("m =", m)

print("u =", u)
=1, 7,7, 7]

[9.442857142857141, 7.700000000000001, 7.957142857142857, 6.314285714285715]

=
1l

[0.8961904761904753, 1.7333333333333332, 1.7195238095238086, 0.9414285714285714]

from xtest import Bonferroni_test2

a = Bonferroni_test2(n, m, u, method="Holland_Copenhaver")

Multiple cpmpalison of tow means (Holland_Copenhaver)

n mean variance

Group-1 7 9.442857 0.896190

Group-2 7 7.700000 1.733333

Group-3 7 7.957143 1.719524

Group-4 7 6.314286 0.941429
t value p value p threshold judge
1:4 5.089355 0.000033 0.008512 significant
1:2 2.835166 0.009149 0.016952 significant
3:4 2.672492 0.013319 0.016952 significant
1:3 2.416862 0.023620 0.016952 not significant
2:4 2.254189 0.033587 0.025321 not significant
2:3 0.418303 0.679445 0.050000 not significant



